

$$g'(x) = (2 \tan x \times (1 + \tan^2 x) - \sqrt{2} \sin x) \times f'(\tan^2 x + \sqrt{2} \cos x)$$

$$g'(\frac{\pi}{4}) = 2 f'(2) = \sqrt{2} \rightarrow f'(2) = \frac{\sqrt{2}}{2}$$

۱

$$f(x) = \frac{1 + \cos^3 x}{2 - \cos^2 x} \rightarrow f'(x) = \frac{(3 \cos^2 x)(-\sin x)(2 - \cos^2 x) - (1 + \cos^3 x)(-2 \cos x)(-\sin x)}{(2 - \cos^2 x)^2}$$

$$g(x) = \frac{2}{2 - \cos x} \rightarrow g'(x) = \frac{-2(\sin x)}{(2 - \cos x)^2}$$

$$f'(\frac{\sqrt{2}}{2}) = \frac{152 - 128\sqrt{2}}{228} \quad g'(\frac{\sqrt{2}}{2}) = \frac{2 - 2\sqrt{2}}{128} = \frac{102 - 64\sqrt{2}}{228}$$

$$f'(\frac{\sqrt{2}}{2}) - 2g'(\frac{\sqrt{2}}{2}) = \frac{152 - 128\sqrt{2}}{228} + \frac{204 - 128\sqrt{2}}{228} = -\frac{101}{228}$$

۲

$$f'(\frac{x}{2}) = 4\sqrt{ax} + (4x - 3) \times \frac{a}{2\sqrt{ax}}$$

$$f'(\frac{x}{2}) = -4\sqrt{ax} - (4x - 3) \times \frac{a}{2\sqrt{ax}}$$

$$f'(\frac{x}{2}) - f'(\frac{x}{2}) = 1\sqrt{ax} + (1x - 2) \times \frac{a}{2\sqrt{ax}} = 4\sqrt{ax} = 2\sqrt{4}$$

$$\sqrt{4a} = \frac{\sqrt{4}}{2} \rightarrow 2a = \frac{4}{2} \rightarrow a = \frac{1}{2}$$

۳

$$y = -ax + 2$$

$$f(4) = -4a + 2$$

$$f'(4) = -a$$

$$f(4) + f'(4) = -4a + 2 = -1 \rightarrow a = \frac{3}{4}$$

$$f'(4) = -\frac{3}{4}$$

۴

$$y = \frac{x+2}{x}$$

$$\frac{ax-1}{2x+1} = \frac{x+2}{x} \rightarrow Vax - V = 2x^2 + 12x + 2 \rightarrow 2x^2 + (14 - Va)x + 12 = 0$$

$$\Delta = (14 - Va)^2 - 4(2)(12) = 0 \rightarrow 49a^2 - 224a + 112 = 0 \rightarrow \begin{cases} a = \frac{14}{V} \\ a = \frac{2}{V} \end{cases}$$

۵

$$f(x) = \Lambda + Ya - b = 0 \rightarrow Ya - b = -\Lambda \rightarrow b = -14$$

$$f'(x) = Yx^Y + a = 14 + a = 0 \rightarrow a = -14$$

$$b - a = -14 + 14 = \boxed{-4}$$

8

$$f(x) = \sin^n(x^Y) \rightarrow f'(x) = n \sin^{n-1}(x^Y) \times \cos x \times Yx$$

$$\lim_{x \rightarrow 0} \frac{f(x) f'(x)}{(1 - \cos x)^m} = \frac{\sin^n(x^Y) \times n \times \sin^{n-1}(x^Y) \times \cos x \times Yx}{(1 - \cos x)^m}$$

$$\rightarrow \frac{x^{Yn} \times n \times x^{Yn-Y} \times (1 - \frac{x^Y}{Y}) \times Yx}{(1 - (1 - \frac{x^Y}{Y}))^m} = \frac{Y \times n \times x^{Yn-1} \times (1 - \frac{x^Y}{Y})}{(\frac{x^Y}{Y})^m}$$

$$Y^{m+1} \times n \times x^{Yn-Ym-1} \times (1 - \frac{x^Y}{Y}) = Y \quad \parallel$$

$$n \times x^{Yn-Ym-1} \times (1 - \frac{x^Y}{Y}) = Y^{\frac{1}{Y}-m} \rightarrow \begin{cases} \frac{1}{Y}-m=0 \rightarrow m = \frac{1}{Y} \\ Yn-Ym-1=0 \rightarrow n = \frac{1}{Y} \end{cases} \quad Ym+n = \frac{Ym}{Y}$$

9

$$f(x) = \frac{\sqrt{x}+1}{\sqrt{x}-1} \rightarrow f'(x) = \frac{\frac{1}{2\sqrt{x}}(\sqrt{x}-1) - (\sqrt{x}+1)\frac{1}{2\sqrt{x}}}{(\sqrt{x}-1)^2} = \frac{-\frac{1}{\sqrt{x}}}{x - \sqrt{x} + 1}$$

$$f''(x) = \frac{-\frac{1}{4}x^{-\frac{3}{2}}(x - \sqrt{x} + 1) - (-\frac{1}{\sqrt{x}})(1 - \frac{1}{\sqrt{x}})}{(x - \sqrt{x} + 1)^2} = \frac{\frac{1}{4\sqrt{x}} - \frac{1}{4x\sqrt{x}}}{(x - \sqrt{x} + 1)^2}$$

$$f''(1) = \frac{\frac{1}{4\sqrt{1}} - \frac{1}{4 \cdot 1 \cdot \sqrt{1}}}{(1 - 1 + 1)^2} = \frac{\frac{1}{4\sqrt{1}}}{1} = \boxed{\frac{1}{4\sqrt{1} \cdot 4}}$$

10

$$f(-1) = \Lambda(1-a) = \Lambda - \Lambda a$$

$$\frac{1 - \Lambda + \Lambda a}{0 + 1} = \Lambda a - 1 = -1 \rightarrow a = -\frac{1}{Y}$$

$$f(0) = 1$$

$$f(x) = (x^Y+1)^Y(-\frac{1}{Y}x+1)$$

$$f'(x) = Y(x^Y+1)^{Y-1} \times Yx \times (-\frac{1}{Y}x+1) + (x^Y+1)^Y \times (-\frac{1}{Y})$$

$$f'(-Ya) = f'(1) = \boxed{\Lambda}$$

11

$$y = \sin x \cos Yx \rightarrow \begin{aligned} \sin \frac{\pi}{Y} \cos \frac{\pi}{Y} &= 0 \\ \sin \frac{\pi}{Y} \cos \pi &= -1 \end{aligned}$$

$$\frac{-1-0}{\frac{\pi}{Y} - \frac{\pi}{Y}} = -\frac{Y}{\pi}$$

$$y = \sin^Y x - \cos^Y x = -\cos Yx \rightarrow \begin{aligned} -\cos \frac{\pi}{Y} &= 0 \\ -\cos \pi &= 1 \end{aligned}$$

$$\frac{1-0}{\frac{\pi}{Y} - \frac{\pi}{Y}} = \frac{Y}{\pi}$$

$$\frac{-\frac{Y}{\pi}}{\frac{Y}{\pi}} = \boxed{1}$$

12